H & 0l & AHS B Ml A

20243 =0lloh LB MSAIZAR A

SN HISASARIA
M HETA |4
el HFSF SENSHH 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HSAEAI S A 6,197,934 2,988,202 3,209,732
= 50,000
Al 6,147,934
HSZAl 84 6,017,249 2,988,200 3,009,047
== 50,000
Al 5,967,249
HFEST SENSHH 2 1,485,125 0 1,485,125
HFSTE SENSHE 2d2el 1,069,755 0 1,069,755
101 @124H| 148,149 0 148,149
M ORINZZ2NSE S 148,149 0 148,149
OgFaARA (U2 29F) 148,149
>olE=s 2,305,270 ~4H*12& 110,653
DAt 11,0302 +BA| 24 * 11 3,883
R
16,5403 x12AI 2H+4 2+ 123 9,528
P=UASIELS 133,286,520 *4.. 5% 5,998
PALEES 133,286, 5202 #3.545% 4,726
PLOIRIQAYEE=
4,726,000 *12.81% 606
>IsSEE 133,286,520 *1.75% 2,333
>ATHEE 133,286,520 *0. %% 1,200
>EXNS 9,221,080 %14 9,222
201 er=23y| 916,566 916,566
01 AtR2t2|HI 552,696 552,696
OdF=F SEMSHH 28+8Hl
600,000& * 122 7,200
OSe2gaclAIAE EH X2
2,300,000& x12& 27,600
Ogxt= (=21, Hidl, S218F7I)
1,200,0002 122 14,400
OYXtZ (0Ll R}) 124,000~ 128 1,488
OUBIIE ZHUY 448
35,000,000 3wx 122 12,600
Ogzls=g(2A) 60,0003 *12H*119& 7,140
Ogzlsg(=4) 60,0002 * 12 +365& 21,900
OoRts2a e S|
8,000& x182/x6H ~12& 10,368
O+9% 2AoAR
450,000,000 * 14 450,000
2 5234l 363,870 0 363,870
OFSPIEei=) 14,000,000& 122 168,000
Ostes 150,000& 122 1,800
Odotr=ER= 8,000,000& ~12& 96,000
OEANIIARS 8,000,000& «12& 96,000




2A:

HSAIEAIH 2

M HETA |4
el HFSF SENSHH 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OusSxrEFE=s 2,000,000& %12 2,000
Ost=A LN E 2] 50,0002 *12] 50
OJtAHEMBEE = 20,0002 %12 20
202 04| 5,040 5,040
01 201 5,040 5,040
ORFSE SFHSUE 220l
420,000 123 5,040
HFSF SEHSHHE AMERX 415,370 415,370
201 Ler23| 366,370 356,370
01 At2teltl 297,870 297,870
OAlg2e] 423 ¢
2,000,000& *12& 24,000
OSHIIAASAIE HIIEE ===
270,000& %12 270
O=def ZIIZA =2
300,000 #2CH*13] 600
OUIIHHEAIZ (2L e]) HHEIIA At
= 500,000 *2CH*13] 1,000
OOt 22| ESH 600,000+ 122 7,200
O&D|tH 2| ES 1,800,000& «12& 21,600
Os&Igtd 2|89
200,000& «3CH*12& 7,200
O83AEH 230,000,000 * 14 230,000
Oax=EY 500,000& * 122 6,000
02 35284l 58,500 0 58,500
O=gd 4 5,000,000& 22 10,000
ONM==x B4 11,0002 x300&E+22] 6,600
O=Xzel(M=x) 2,500,000 22 5,000
OogdI| A=l 1,800& *500L*13] 900
OAIZEHl sXI2el 3,000,000& x12& 36,000
206 M=l 24,000 24,000
01 MHZH| 24,000 24,000
O+9® +ape %B
2,000,000& *12& 24,000
401 AlZHIZ S 0HHI 35,000 35,000
01 AlZH| 35,000 35,000
OANd=E RAE+ 35,000,000 *14] 35,000
AFEE SEMSsHY 2l 1,391,998 511,901 880,097
R SEMsHH 292 1,045,508 256,041 789,467
101 e124d| 149,198 0 149,198
M ORNZZ2NSE S 149,198 0 149,198
OgZaARA (U2 29F) 73,034
>olEzg 2,305,270 2H 123 55,327
>t 11,0302 +BA| 22+ 11 1,942




SN HISASARIA
M HETA |4
el g SENSHH 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
poAdIed
16,5453 x12A1 2H2H+ 123 4,765
P=RUASRYS 57,269,0002 *4. 5% 2,578
DAHLEE = 57,269,000 +3.545% 2,031
PEAIVNQAYEEZ 2,031,000&*12.81% 261
PHNESES 57,269,000 *1.75% 1,003
DAESE 57,269,000& 0. %% 516
>EAS 4,610,540 +14] 4,611
ORI (M 29) 76,164
>llE2s 2,386,780 x2&« 12 57,283
D> AXt=g 11,4202 8AI 22«11 2,010
PAdIEY
17,1302+ 12A1 2H2H + 123 4,934
>=EH=SRYS 64,226,080 *4. 5% 2,891
DPALLEEZ 64,226,080 +3.545% 2,217
PAVRLEER 2,276,810 %12.81% 292
PHNESEES 64,226,0802 *1.75% 1,124
>ATHEE = 64,226,080 *0. %% 579
>ElX= 4,773,560 * 14 4,774
201 er23| 892,710 256,041 636,669
01 At2teltl 546,660 47,975 498,685
OAFYR =SUSME 2Z22H|
600,000 * 12 7,200
OSEEZ2IANAY EHl SXz
2,000,000~ 128 24,000
OUBIIE ZHUY 448
30,000,000 3 122 10,800
OMeEHed S NEdg
15,0003 * 12 180
Ogzlis=g(LA) 60,0003 1 *119& 7,140
Ogas=E(=H) 60,0002« 12 +365& 21,900
Ot & S22 S|
8,000 x5 ~183|x 12 8,640
Ogxt= (=21, Hidl, 3218F0I)
1,200,0002 122 14,400
OYxt=2 (AAHI0IH) 400,000 ~6& 2,400
O+8d 28U=EY
450,000,000 * 14 450,000
2 35234l 346,050 208,066 137,984
OFSPIEei=) 12,000,0002 x 12& 144,000
Ostle= 150,000& 122 1,800
Odotre= 7,000,000~ 128 84,000
OEANIIARS 8,000,000& x12& 96,000
O3 (RANMS3H)
1,100,000& x 12& 13,200




2A:

HSAIEAIH 2

M HETA |4
ol TR SEHSHH 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OB+ R (Ranz2a)
300,000 * 122 3,600
Ous=e2g=s 2,000,000 12 2,000
O NEE RS = 100,000 «12& 1,200
OJAA DRI Z
20,0008 %12 20
Ost=A NS 2] 50,0002 1 50
OgdI| A=l 1,800& %100 E1x12] 180
202 04| 3,600 3,600
01 201l 3,600 3.600
ORFYR SUSME R=T0j
300,000 * 122 3,600
HAFER SEHNSHE AMERX 346,490 255,860 90,630
201 er23 | 264,490 226,860 37,630
01 At2teltl 231,850 17,850 214,000
O2eIA2E 7 1,200,002+ 122 14,400
OBYI| TN 242
150,000 *2CH 300
O=YY BIIZAA 222
300,000 *2CH*12] 600
OSENAANSAE FII8E ===
350,000 %13 350
O&J|etd 2|84 300,000 x 12 3,600
Oagerd e |84 400,000« 12& 4,800
OsloEE BY
150,000 x2CH* 123 3,600
O8AEY 200,000,000 » 14 200,000
Ox=EH 350,000 x 122 4,200
02 S3=gHl 32,640 209,010 A176,370
O+=8% 34 5,000,000& 22 10,000
ONM==x A 11,0003 x120E+22] 2,640
OEgd RAl&el 5,000,000& 14 5,000
O=g& &tlacl 10,000,000 * 14 10,000
O==g&=Z2ACINAE K22
5,000,000 * 14 5,000
206 M=Hl 41,000 14,000 27,000
01 MHZH| 41,000 14,000 27,000
Ox8& &2l 43
2,000,000& ~12& 24,000
OSLLHHX 225
7,000,000 *14] 7,000
O3ZJ] Z2H(+=2E, U=sAM=H)
5,000,000 14 5,000
OAlE= EHIRS 250,000 x205 5,000
401 Al HIZ 2018 41,000 15,000 26,000




SN HISASARIA
M HETA |4
el g SENSHH 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 41,000 15,000 26,000
OAlE=E RAE= 35,000,000& » 14 35,000
OsAl =24 3,000,000& *23] 6,000
stUEHSHH 2 621,147 472,466 148,681
SUESMSHEH 232 372,445 240,463 131,882
101 21AH| 89,955 31,771 58,184
04 JIZtN2 2N S 2+ 89,955 31,771 58,184
OHILUPR(SREZSIHSHH HE2R]) 89,955
>llE2s 2,305,270 «2&« 12 55,327
> QiR 11,0802 %224 x8AI b 112 1,942
>eEaRAY
16, 5453 x2 & #48A[ 2t 123 19,060
>=EH=RYS 80,838,400 *4. 5% 3,638
PALEES 80,838,400 +3.545% 2,866
PARLESER 2,865,730&%12.81% 368
PHNESEES 80,838,400& *1.75% 1,415
>ATHEE = 80,838,400 0.90% 728
>ElX= 2,305,270 x2H 4,611
201 er23| 278,890 200,052 78,838
01 At2tltl 52,260 44,288 7,972
OAMRES 7Y 300,000& = 10H 3,000
Odxtz(d=71, Hidl)
6,000,000 14 6,000
Ou=Eote 2t r++2
15,000,000 3x 122 5,400
OMeEdad S HEdg
15,000& ~ 123 180
Ogzls=g(LA) 60,0002 *1&»119& 7,140
Ogala=g(=A) 60,0002« 12 *3652 21,900
O0Rt - 522 S|
8,000 x5 *183|* 12 8,640
2 s5=g4l 226,630 185,764 70,866
oNIIR3 7,000,000& 123 84,000
OStle= 130,000& * 122 1,560
Oolr=Ees= 3,000,000~ 128 36,000
OEAIIARS
1,000 *110m" *3A| 2H+310 102,300
OJABS Y EEE 20,0002 %13 20
OXlgt==0l8FE= 100,000 122 1,200
Ogt=2g gl 50,0002 %12 0
OAIRE &I FXI2el
1,500,000 *14] 1,500
202 04l 3,600 8,640 25,040
01 =LHAHI 3,600 8,640 A5,040




2A:

HSAIEAIH 2

M YSTA 54
el SEESMSFHE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMSAIE2g g2=804t|
300,000 * 122 3,600
sUSASHE AERX 248,702 232,003 16,699
201 er=23y| 176,502 184,823 N\8,321
01 AtR2t2|HI 135,514 19,814 115,700
o222 7 500,000& * 128 6,000
OSEINAANEANE FIIE8E=+2
270,000& %12 270
O=gef ZIIZAe2E
300,000 *23] 600
OUJIHEAIZ(2LH) HHEIIA ZAt=
= 500,000 22 1,000
O&D|tN 2| ES 450,000 122 5,400
OAgtM 2 ESH 300,000& * 122 3,600
Os&Igtd 2| E9 2,644,000 «1CH 2,644
Os22MSHEH 4S9
98,000,000 * 14! 98,000
O=gd F48Y 3,000,000 *42] 12,000
OAx=89Y 500,000& * 122 6,000
2 s5=34l 40,988 165,009 A124,021
OtlgE 28| A=d]
1,639&%100 £ *13] 164
OMz==x H4 11,0003 * 142 E+22] 3,124
O=get A2 5,000,000& 12 5,000
O, AESAHY 8
1,000,000 %14 1,000
OFs & E8&E FAlZd
2,000,000 %14 2,000
O=3& ZHIAIE(01D1) |2
4,500,000 12 4,500
ORYLHl |22 5,000,000 14| 5,000
Oodte RAl2el 200,0002 *16CH 3,200
ogAl| & 8|7 RAl2el
150,000& 205 3,000
O=Z3A)| |2l
2,000,000 2CH 4,000
OAlE FAl2cl 10,000,000 » 14 10,000
206 M=l 18,200 18,200
01 M=4l 18,200 18,200
O=8d 25943 850,000 * 122 10,200
OAtEE dXtga 1,000,000 *14] 1,000
OAlE= EHIRS 7,000,000 * 14 7,000
401 Al HIZL 01| 36,000 26,000 10,000
01 Al&HI 36,000 26,000 10,000




2A:

HSAIEAIH 2

M HETA |4
el SEESMSFHE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OsUSsHSHE A2 Sies
20,000,000& » 14 20,000
OS2I2SHSHE 2SS FIIHEE
6,000,000 *14 6,000
OsJ122d e W
10,000,000 * 14! 10,000
405 AHaHE = 18,000 2,980 16,020
01 It =S F=H 18,000 2,980 16,020
OS2 RH(H) 300,000 *5H 1,500
OZEII(H) 500,000 *1CH 500
O3] 8,000,000 =2CH 16,000
SUMSHSAIE 22 172,346 157,930 14,416
SUMEHSAIE 22 172,346 157,930 14,416
101 @124H| 71,346 32,933 38,413
M ORNZZ2NSE S 71,346 32,933 38,413
OHAAURA(SHMUEHSAIE 2el) 71,346
>ol=s 2,386,780 x2H 122 57,283
> AXt=g 11,4202 +8A| 22+ 11 2,010
P=EASREs 65,259,640 *4. 5% 2,937
DALEEHZ 65,259,640 +3.545% 2,314
PAVRLESER 2,313,460 *12.81% 297
PNEZES 65,259,6402 *1.75% 1,143
>ATHEEZ 65,259,640 +0.90% 588
>Ex= 2,386,780 x2H 4,774
201 el 65,000 99,997 A34,997
01 At2teltl 6,800 7,797 A997
Ozelal2E 7Y 2,000,000& *14] 2,000
OXts &otd2e|sy
150,000& * 122 1,800
OO08l0l=0IAlE eSS
1,800,000 *14] 1,800
oYXtz (F==71) 100,000 *1CH+ 122 1,200
2 35234l 58,200 92,200 A\34,000
OFSPIEei=) 2,000,000& 123 24,000
Ostle= 100,000& * 122 1,200
Oolr=Ees= 2,500,000~ 128 30,000
OSLUEMSAIE FAl2c
3,000,000 14| 3,000
206 MH=Hl 6.000 3,000 3,000
01 MZH| 6,000 3,000 3,000
OAld = EHIRS 3,000,000 14| 3,000
OHMIZ=H 3,000,000 %14 3,000
401 AIEHIZ SR OHYI 30,000 22,000 8,000




2A:

HSAIEAIH 2

M YSTA S4
CHo: SOMEBHSAL 22 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At 30,000 22,000 8,000
OSAYBHSAL =X SX2%
20,000,000& x 14 20,000
OSHUEMSAIE M= B2+
10,000,000& * 14! 10,000
CEM=s2 2 1,002,745 934,590 68,155
CEMSE2 282 615,375 523,985 91,390
101 e124d| 234,117 194,358 39,759
M ORINZZ2NSE S 234,117 194,358 30,759
OgZaRA(CM=s2 fE2el) 77,79
>olE=s 2,305,270 2H* 123 55,327
DAt 11,0302 «8A| 2t2E + 11 1,942
>oIERRAY
16,5453 x24 A 2hx2H* 123 9,530
>=EH=RY= 57,267, 7602 *4 . 5% 2,578
DALEE= 57,267, 7603 *3.545% 2,031
PAVNRLEER 2,030, 1422 %12.81% 261
(PR =het=: R 57,267,760 *1.75% 1,003
DAHESEE 57,267,760 0. %% 516
>EXNS 4,610,540~ 14 4,611
OAAURA(+=IT & MY 22]) 156,318
>olEs 2,386,780 x4H 122 114,566
> oXt=E 11,4202 «8AI 24+ 11 4,020
PAdIz2E
17,1302 #24 A1 2H+4H+ 128 19,734
>=EUHASRES 118,585,2802 *4. 5% 5,337
Al gt R 118,585,280 %3.545% 4,204
PEIVNQALEEE 4,203,848 x12.81% 539
PUELEE 118,585,280 *1.75% 2,076
DAtES = 118,585,280 0. 9% 1,068
>EAS 4,773,560 *14] 4,774
201 fer= 3| 377,658 326,027 51,631
01 At 2|l 54,580 55,733 1,153
O2e22F 7 4,000,000 * 14 4,000
ONBIHE ZHHYS4E
30,000,000 3wx 122 10,800
oolEet= M= 2,000,000 %14 2,000
OA=¢ 200,000 *23] 400
OgAY S MAH= 15,0003 * 122 180
Ogzls=g(2A) 60,0002 x1H*119&! 7,140
Ogax=g(=8) 60,0002 * 12 +365& 21,900
O0Rt - S22 SEH|
8,000 »2F *102]* 122 1,920
Ogxtz (=71, ditl) 520,000+ 122 6,240




2A:

HSAIEAIH 2

M YSA S4
Cel: CENs2 2 EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 S22l 323,078 270,294 52,784
oMIIe3a 13,000,000& « 122 156,000
OstIes 140,000 « 122 1,680
Odlot=ER=3 6,000,000« 122 72,000
OZANARS
1,046 +130m" «3A| 2++220 ! 89,747
Ous=eRg=s 2,000,000& %12 2,000
Oi&AIL E8RE= 100,000« 10 1,000
OtAHEMALZEE 50,0002 +13 50
OAg et 3| 100,000& %12 100
O (30m) A2
1,667&*3002| E4*13] 501
202 OH| 3,600 3,600
01 2L A 3,600 3,600
OLEHsd 280l
300,000 * 122 3,600
EEMs2 AIE=A 387,370 410,605 N23,235
201 ZEeH2& ] 288,770 281,005 7,765
01 AtR2telbl 234,490 36,105 198,385
O2eA2F 7 20,000,000 *14] 20,000
OSE=g2cIAAY FHl Sxtz
20,460,000 x 14! 20,460
O&ZI| HIIAM =25
150,000 *2CH 300
OSEHIMAASAIE B ===
350,000& %12 350
O=2del gAe=2
250,000 #2LH*12] 500
OWIILELXAE T=EE ===
1,000,000 *14 1,000
OXts &o|gte e84
950,000 123 11,400
OOt 2| ES 400,000+ 123 4,800
OsJetd 22| ES
220,000 =20~ 122 5,280
OFAEY 165,000,000& *14] 165,000
OAr=EY 450,000& * 122 5,400
02 S2=24Hl 54,280 244,900 A190,620
OMz==x H4 11,0003 240 E+23] 5,280
O3ZJIEH WA & 2
1,000,000 4CH 4,000
O=&& &dl2tel 10,000,000& %14 10,000
OAEEIY & Euatd| A2
3,000, 000& *2CH 6,000
O =HIAAAE KX
5,000,000 « 14! 5,000




2A:

HSAIEAIH 2

M HETA |4
ool EZHs2 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXlg2eAIAE |X2el
10,000,000& * 14 10,000
OXSHOHAIAE S22l
5,000,000 * 14 5,000
O#AIIPH| X2
300,000& *305 9,000
206 M=l 20,600 22,600 22,000
01 MHZH| 20,600 22,600 /2,000
O=+=38d STH 200,000 122 2,400
O%UT £H2I8 43
500,000 * 12 6,000
O=gef 2 100,000 »12& 1,200
OSALLHEHX 225
7,000,000+ 14 7,000
OAlEd= EHIRS 200,000 *20& 4,000
401 Al HIZ S OHbI 78,000 97,000 219,000
01 A28l 78,000 97,000 19,000
OANd=E RAE+ 35,000,000 * 14 35,000
O-gHs2 sags gy
17,000,000 * 14| 17,000
OLEHMS2 JIAHA A" == Hi2h WA
12,000,000& * 14 12,000
OEEHSEZ JIHY =888 =at8Z2H
2 14,000,000 = 1CH 14,000
SHITAl HES3 2l 227,852 64,074 163,778
SHEA HSSE 2E 22 227,852 64,074 163,778
101 @124H| 151,228 24,675 126,553
M ORNZZ2NSE S 161,228 24,675 126,553
O (HAZAINSZ2H 2el) 75,614
>ol=s 2,386,780 x2H*12& 57,283
D> AXt=& 11,4202 +8A| 22+ 11 2,010
PAYZEY
17,1303 »12AI1 2h+2EH* 123 4,934
P=UASELS 59,292,640 *4 . 5% 2,669
PALEES 59,292, 6403 *3.545% 2,102
PAVNRLEER 2,102,9242%12.81% 270
PUESEES 59,292,640 *1.75% 1,038
DAHESEE 59,292,640 0. %% 534
>EXNS 4,773,560 *14] 4,774
O AAURA(BFHLAY 2g2¢2l) 75,614
>llEs 2,386,780 x2H 122 57,283
D> AX=E 11,4202 «8A| 22~ 11 2,010
PAdIz2E
17,1303 x12A12H2ZF+ 123 4,934
>=UASRES 59,292,640& *4. 5% 2,669




SAT MSAIEASA
M YSTA 54
ol SHAZAl HSS3E 2al EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
DPALEEZ 59,202,640 +3.545% 2,102
PAVRLEER 2,102,9242%12.81% 270
PUEEES 59,202,640 *1.75% 1,038
DAHESE = 59,292,640 0. %% 534
>EX= 4,773,560 *14] 4,774
201 Ler23| 28,224 20,99 7,225
01 At2teltl 6,444 4,739 1,705
O2Ae|A2F 7Y 1,700,000 %14 1,700
Oeti= M= 200,000 14| 200
Ogxtz(F==I1) 28,0003 20+ 122 672
OalEBIE ZHUd++=
40,000, 000& x3.63% 1,452
OFIILH MBI +48
250,00024%23] 500
OO0kt Y% 22
8,000 20 * 122 1,920
02 S5=24g4l 21,780 16,260 5,520
oNIIR3 1,500,000& «12& 18,000
Ostes 75,0002 123 900
Odolr=ER= 240,000& * 128 2,880
206 M=H| 1,400 1,400
01 X=HI 1,400 1,400
ONEE HbIRE 1,400,00021%14] 1,400
401 Al&HI LS OHE] 47,000 17,000 30,000
01 A&t 47,000 17,000 30,000
OSASAINSZE AL RRI24
7,000,000 *14] 7,000
OsldHIUAE 2 4X
20,000,000 *14] 20,000
Or=HIUAE =9 &X
20,000,000 * 14! 20,000
EBHEMSEA 22 175,125 140,811 34,314
BHEXMSEA 22t 175,125 140,811 34,314
101 @124H| 53,081 49,347 3,734
M OIRINZZ2NSE S 53,081 49,347 3,734
OSAAULA(HEHMSEA 2el) 53,081
>llEs 2,386,780 x2&9& 42,963
> AXtg 11,4202 +BA| 2H+2E +8L 1,462
PAdZZ2E
17,130 *12A1 2203 3,701
>=EUHA=SRYE=S 44,423 ,800& *4. 5% 2,000
PALEEHEER 44,423 8002 *3.545% 1,575
PAVQRLEEE 1,574,824 %12.81% 202
PUEEEE 44,423,800 *1.75% 778




2A:

HSAIEAIH 2

M HETA |4
SRl BHEMSEA 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
DAtES = 44,423,800 *0. Kb 400
201 er23| 63,044 42,464 20,580
01 At22te|Hl 7,544 6,264 1,280
o222 7Y 800,000& 14 800
Oeti= M= 200,000 %14 200
OALIOFOISE Aot B
90,0002~ 12 1,080
OAptE doetd 2e| 89
300,000 x 12 3,600
oYXtz (F==71) 22,0002+ 122 264
OOt - 522 2
8,000& 202 x 102 1,600
2 35244l 55,500 36,200 19,300
OFSPIEei=] 3,600,000& «12& 43,200
Ostle= 100,000& * 12 1,200
Oolr=ERs= 500,000& * 128 6,000
OAgt&E 3] 100,000& %12 100
OAIZ &l sXI2el 5,000,000 14 5,000
206 MH=Hl 5,000 5,000
01 MZH| 5,000 5,000
OAd = ZHIRS 5,000,000 14| 5,000
401 AlZHIZ S OHbI 54,000 44,000 10,000
01 A28l 54,000 44,000 10,000
OHEMEEX A2 RRES
20,000,000& * 14! 20,000
OHEM=EX =X FX2+
34,000,000 %14 34,000
SEMSKA 2e 135,368 76,297 59,071
M 22 135,368 76,297 59,071
101 @124H| 75,614 0 75,614
04 JIZtNZ22 NS+ 75,614 0 75,614
ORI (BLHMELX Alg2te) 75,614
>llEs 2,386,780 «2F 128 57,283
D> AXt=E 11,4203 +BAI 2h2EH* 11 2,010
poAdIed
17,1303 x12A1 2H2E+ 123 4,934
>RUASFES 59,292,640 4. 5% 2,669
DAHLEE = 59,292,640 +3.545% 2,102
PEAIVNQAYEEZ 2,102,9243%12.81% 270
PUEREEE 59,202,640 *1.75% 1,038
DAES S 59,292,640& 0. %% 534
>EAS 4,773,560 *14] 4,774
201 et 3| 30,754 30,297 457




2A:

H=AIEA

B HSEA 84
ol SEHSEA 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 7,920 7,823 97
O2AeA2F 7 1,800,000 *14! 1,800
OdEIIE ZHtl=+=2
60,000, 0002 *3% 1,800
Oeti= M= 300,000 *14] 300
OAPtE &oete 2e| 89
150,000& « 12& 1,800
O0Rt - 222 SEH|
8,000& x20&x 123 1,920
OYxtz(F=71) 25,0002 *1CH* 122 300
2 S22l 22,834 22,474 360
OodIIR3 1,700,000& «12& 20,400
Ostes 40,0003 * 122 480
Odot=es=s 150,000& * 12 1,800
Odslx H4 223 x7,0002|E1x13] 154
206 M=l 4,000 4,000
01 M= HI 4,000 4,000
OAld= &Hl 858 4,000,000 * 14 4,000
401 AlEHIZL SO 25,000 42,000 A17,000
01 Al&H| 25,000 42,000 A17,000
OZMSEX ANE=E B2+
5,000,000& *14] 5,000
OstBMELK =X =A2
10,000, 000& x23] 20,000
AFLSE & FAFHILIAE 22 246,329 317,667 AT71,338
3 & AFHLIAE 282 157,971 84,455 73,516
101 e124d| 70,839 32,933 37,906
M ORINZZ2NSE S 70,839 32,933 37,906
OIAURIA(LZE & HILIAE 2el) 70,839
>olEs 2,386,780 x2H 122 57,283
>Rt 11,4202 +8A| 22+ 11 2,010
P=RIASRY=s 59,292,640 *4. 5% 2,669
DALLEEHZ 59,292,640 +3.545% 2,102
PEARLESER 2,101,9202%12.81% 270
PHNESES 65,259,640& *1.75% 1,143
DAEEE 65,259,640 *0.90% 588
>ERS 4,773,560 * 14 4,774
201 Ler23 | 83,432 51,622 31,910
01 At2t2ltl 8,252 6,716 1,536
O2eA2F 7 800,000 *14] 800
OMsItE ZHld =
8,000,000 3w 123 2,880
O0Rt - RE22 SEH|
8,000 x2& *163|* 12 3,072




2A:

HSAIEAIH 2

M HSA 54
ol QIR U AXE|LAR 22 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ot (Hidl, &=21) 125,000& «12& 1,500
2 s5=34l 75,180 44,806 30,374
o3 6.,000,0002 * 12& 72,000
Ooste:s 45,0002 =2CH* 122 1,080
Ogt=A &S 2] 60,0002 *12] 60
OXlot==0lEFE= 30,0002~ 12 360
OJIHIEHl HZH|
1, 7493~ 4T x4 A| 260 1,680
405 AtatsE = 3,700 3,700
01 TR ESFISHI 3,700 3,700
OetelotAHII () 3,700,000 *1CH 3,700
Y & FFHLAE AERX 88,358 83,212 5,146
201 =3 26,518 24,572 1,946
01 AtR2t2ltl 18,296 11,974 6,322
O2eA2F 7 3,600,000& *14] 3,600
OZ=dl itz 1,600,000 %14 1,600
OsZIl HIIZA =28
100,000 *2CH 200
OsIItE R 2L 8
2,188,000 =2CH 4,376
oI 22 EH 500,000& 12 6,000
OA gt ES 210,000& 12 2,520
02 S3=gHl 8,222 12,598 A4,376
Odslx 34 22+31,000 £ *12] 682
OM+=Z &4 12,0003 *10E+23] 240
OIIAIEHl FAl2cl 1,000,000 14! 1,000
OdeI| |Xl2el 100,000 = 13CH 1,300
OAldE RXl2el 2,000,000& %14 2,000
O¥FHILIAZ HIEE A
1,500,000 22 3,000
206 M=l 11,000 13,000 22,000
01 MZH| 11,000 13,000 /2,000
OANld= ZHIRS 5,000,000& 14] 5,000
Otlg & M=Kl 6,000,000 14| 6,000
401 Al HIZ S OHbI 50,000 44,000 6,000
01 AlZ2H| 50,000 44,000 6,000
ORAFART ALS NS
20,000,000& * 14! 20,000
Od=gd=d A5= JJ|AHEH
4,000,000 +14] 4,000
OsAl =24 26,000,000& * 14 26,000
405 AtatE = 840 1,640 A800
01 IR ESFSHI 840 1,640 A800




2A:

HSAIEAIH 2

M HETA |4
ool AFURT U AFELIAR 22 (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oxy 340,000 1H 340
O Xt 300,000 *1H 300
osxgd 200,000 *1H 200
JIEtHISAIE 2tel 559,214 312,466 246,748
< 50,000
Al 509,214
AFHEQHAES IS 22 396,764 246,941 149,823
101 @124H| 76,164 80,261 A4,097
M ORIMZZ2NSE S 76,164 80,261 N4,097
OSYARA(ELEH SBEHI) 76,164
>olEs 2,386,780 x2H*12& 57,283
> o= 11,4202 +8A| 22+ 11 2,010
PAYZZE
17,1303 »12AI1 2h+2 &= 123 4,934
P=RYUASIELES 64,226,080 *4. 5% 2,891
PALEES 64,226,080 *3.545% 2,217
PAIIQAEE= 2,276,810 %12.81% 292
(PR =tnt=: N 64,226,080 *1.75% 1,124
DAHES = 64,226,080 *0. %% 579
>EXNS 4,773,560 *14] 4,774
201 eer23| 218,600 154,680 63,920
01 AtR2t2|HI 120,530 20,250 100,280
O2e|x2F 7Y 6,000,000 *14] 6,000
OSe2g2cAIAE H X2
1,500,000& «12& 18,000
Oxt (=01, Hidl, S21&8FI)
1,000,000& «12& 12,000
ogxz(HsdEs2II)
70,0002 4CHx 122 3,360
OsJl A =28 150,000 2CH 300
O&D|etM 2| ES 400,000 123 4,800
OOt 22| ES 300,000& * 122 3,600
(OF=E=1d 60,000,000 *14] 60,000
OAx=EY 450,000 123 5,400
OsZlIgtd2e| 89
130,000 x2CH* 123 3,120
OSENAANEAE FII8E ===
350,000 *14] 350
OXSIHE ZHUE =5
10,000,000 3+ 122 3,600
2 S22l 98,070 134,430 236,360
OoNIIR3 5,000,000& x12& 60,000
Ostes 200,000 * 122 2,400
Odotres 700,000 * 12 8,400




2A:

HSAIEAIH 2

M HETA |4
Rl JIEtHISAIE 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEAINARS 2,000,000& ~12& 24,000
OusS7rEFE=S 2,000,000& %14 2,000
OH&AINEE RS 100,000 «12& 1,200
O AN DU} A 5
20,0002 %12 20
Ost=A NS 2] 50,0002 14 50
206 M=l 2,000 2,000
01 MZH| 2,000 2,000
OANd = EHIRS 2,000,000 %14 2,000
401 AlZHIZ SO 100,000 10,000 90,000
01 A28l 100,000 10,000 90,000
OANd= RAE+ 30,000,000& *14! 30,000
OTHEHEEZIE =4 JH|
70,000,000& *14] 70,000
WEMEZ 2 HLAY 22 59,950 59,950
201 LBzl 33,950 33,950
01 AtR2te|Hl 3,960 3,960
OodJ|td 2|84 150,000& * 12 1,800
OOt A2 EH 180,000& 12 2,160
2 Ss52g4l 29,990 0 29,990
o&IIe3 2,200,000 12& 26,400
Oet=A NS 2] 50,0002 14| 50
Odslx H4 660,000 14! 660
OMz==x H4 11,0002 #40E 23] 880
OAld= mAl2el 2,000,000 %14 2,000
401 Al HIZL S 0HYI 26,000 26,000
01 Al&HI 26,000 26,000
OAlE=E RAE= 10,000,000 * 14| 10,000
Od=ss N8 S
6,000,000 *14] 6,000
OXls+% 8 10,000,000& * 14! 10,000
=y 2ga2a 2,500 2,500
401 AIEHIZ R HYI 2,500 2,500
01 Al&H| 2,500 2,500
Od=ss FIINHES
2,500,000& *14] 2,500
By JIs2d 100,000 0 100,000
= 50,000
Al 50,000
401 AIEHIX R0 100,000 0 100,000
=S 50,000
Al 50,000
01 AlZ28| 100,000 0 100,000




2A:

HSAIEAIH 2

M HETA |4
=Rl JIEtHEAIE 2l (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFF==d A8 EH
100,000,000 *14] 100,000
= 50,000
Al 50,000
HY 2L HHI(HSAIEAIGA) 180,685 0 180,685
A2 (MSAEAIE ) 173,645 0 173,645
A2 (MSAIEAIE ) 173,645 0 173,645
101 @124H| 173,645 0 173,645
01 2% 71,310 0 71,310
OARIIRR4Y
11,3192 %21 +300A1 2+ 71,310
02 JIEtAE = 20,375 0 20,375
OAIZtRI 2R Ag
11,3192 «6 2 *300A[ 2 20,375
03 SRA(RIH L) 222+ 81,960 0 81,960
OUFDRL(SURSSHSME) 2,883
> #H AL (HH)
17,8082 x 12 +300A[ 2t 5,343
DEYAULA(HMS XA
18,3602 x5 *300A1 2+ 27,540
OHEZ2+E(AFSTE SEMSUH) 5,343
> I AD ()
17,8083 * 12 +300A1 2t 5,343
OHEZ2+E(AFER SEMSUH) 10,851
DAFARA(NE)
17,8082 x 12 *300A[ 2t 5,343
DHILRAMEXNEIL)
18,3603 » 12 *300A 2* 5,508
Ood22+L(EE8NSR) 32,883
DAFARA(NE)
17,8082 x 12 *300A[ 2t 5,343
DYARA(HMS KAL)
18,3603 x5 *x300A 2+ 27,540
JI23HI(HSAIEAIE ) 7,040 0 7,040
J12ZHI(HSAIZAIEA) 7,040 0 7,040
202 04l 1,000 0 1,000
01 =LHAHI 1,000 0 1,000
OMSAIE gRFA 22104
1,000,0002 %14 1,000
203 =4l 6,040 6,040
02 32 JRHH R 1,840 1,840
OF = (1~1008) 40,0002 x46H 1,840
M EASHLRFAH 4,200 0 4,200
0252 Olst 350,000& 122 4,200




